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Instruction : First 15 minutes are allotted for the candidates to read the question paper.
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Note : (1) All questions are compulsory. Marks allotted to each question are given in the margin.
(2) Give relevant answers to the questions.

(3) In numerical questions, give all the steps of calculation.

(4) Give chemical equations wherever necessary.

1. 380 W& & Y% @Uus & UR fdehed QU 1T §| #E fGhod Il 30
HYAT IcR-giEas # fafge:

() f=faf@a Regal # O Faer WRRYT a9 F@aas g2 (1)

(1) 1M NaCl (2) 1M BaCl, (3) 1M (NH,),PO, (4) 1M Na,SO, .

(@) Uk gd & v arsuel i Teuredr 30 fohell ST Al AT arsyel sl Togrdy
75 S[f A1 dfedsT g1 AYAUST &g W &d &l FaUeeh & (1)

(1) 250 K (2) 400 K (3) 450 K (4) 600 K.

(1) BRI fohEeh TTggelolel egctest &2 (1)

(1) AAT (2) TAT (3) WA (4) S=ileT|

(&) Stel AT @ ANV Toeplglel & AT & T gl aTell 3R & (1)

(1) CuO+ZnO+ NiO (2) CuO+ZnO+ Cr,0, (3) ALO, (4) CuO+ Fe,0,

(3) UEITeS 3+ ¢ (1)

(1) Tearsd (2) 9T (3) faerf@a (4) gl




1. In each part of this question, four alternatives are given. Select the correct alternative
and write it in the answer-book :

(a) Which of the following solutions has maximum osmotic pressure? (1)

(1) 1M NaCl (2) 1M BaCl, (3) lM(NH4)3PO4 (4) 1M Na,SO, .

(b) The enthalpy of vaporization for a liquid is 30 kJ mol "'and entropy of vaporization is
75 Jmol 'K ™'. The boiling point of the liquid at atmospheric pressure is (1)

(1) 250 K (2) 400 K (3) 450 K (4) 600 K.

(c) Haloforms are trihalogen derivatives of (1)

(1) Methane (2) Ethane (3) Propane (4) Benzene.

(d) Catalyst used in the manufacture of methyl alcohol from water gas is (1)

(1) CuO+ZnO+ NiO (2) CuO+ZnO+Cr,0, (3) ALO, (4) CuO+ Fe,O,

(e) Ascorbic acid is (1)

(1) Enzyme (2) Protein (3) Vitamin (4) Hormone.

2. (%) 96 UTAAT FoHIRE 3Fel (GeAATA/GIAT H) FT 3Ufaih Telca 1.84
gl 39 37Fd HI AleRdl AR ATHIdT ST 0T hItarT| (1)

(@) Yo W & IUUTT H WfSgA qur v Afdes A & o AT 39w &
IATHIT W_F AT §a1ad g1 e A F1 &2 TaaEe gHieor o ef@u
(1)

(a1) Sefafed e gaeRtor & qoT SIfae: (1)

OCOCH,

[:Ej fster alci,
A

(&) fAFaTaf@d 3fAfRIT A A &1 ggarT KIfaw: (1)

C,H,NH, +CS, + HgCl,—*—> A+ HgS + 2HCI

2. (a) Relative density of 96% (by weight/weight) sulphuric acid is 1.84. Calculate its
morality and normality. (1)
(b) Sodium and two moles of a compound A react in presence of dry ether to form ethane.
What is compound A? Write the chemical equation also. (1)
(c) Complete the following chemical equation: (1)

OCOCH4

Anhydrous AlClg
A

(d) Identify A in the following reaction: (1)
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C,H,NH, +CS, + HgCl, —*—> A+ HgS + 2HCI

3. (F) WIERON 0TS & 3T FAT FHAAA &2 (1)

(@) T FIElddh 3Fdd & [dpeFaelaol FAHAT & oT Taafas gaeor
faf@e| (1)

(1) TP F T: FeeT GA] H T W s@en i 3ufEAfy g HfFw (1)
(¥1) WTehicieh T&R & Ueholeh 1 oA1H T §F i@ (1)

3. (a) What do you mean by osmotic coefficient? (1)

(b) Write the chemical equation for decarboxylation reaction of an organic acid. (1)
(c) Prove the presence of a straight chain of six carbon atoms in glucose. (1)

(d) Write the name and formula of monomer of natural rubber. (1)

4. (F) UF SFNT Aorgel [SHA 12.48 IH INIA FeRIZS 1.0 kg ST H el &,
373.0832 KUY 39c0dT &1 SRIA FaRss & AAssr & &#m=r & aorear fifsw)
(K, =052 K—kg HIel", BaCl, &l 3T0TTdeh gedHT=208.34 IATH Hel') (2)

(@) fArIfaf@a w dfgca feoqolt faf@e | (2)

(1) gferar FATRTHRAT (2) dealisa FEA|

(31) TP H THEGIT S0l H gt arell HAFAT & varafas gaienor
faf@T) (2)

(&) sgeAT-S TR Tl A1 fafer 1 qarafas gdienor fofav) sas qeg 3
T 82 (2)

4. (a) An aqueous solution containing 12.48¢g of barium chloride in 1.0kg of water, boils at
373.0832K. Calculate the degree of dissociation of barium chloride.

(K, =0.52 K-kg mol™, Molar mass of BaCl,=208.34 gmol™) (2)

(b) Write short notes on the following: (2)

(1) Perkin’s reaction (2) Benzoin condensation.

(c) Write the chemical equations of the reactions which take place in the conversion of
glucose into glucosazone. (2)

(d) Write the chemical equation of the process to prepare Buna-S rubber. What are its main
uses? (2)

5. (%) U TYAlC H 100 IH Thid, T o 1560k] & TAJeT g, fear
W%I@ﬂﬁa‘gulb«lg‘é’sa Fall T 50 gfaerd 39AeT &ar gl R & Far
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HT TIT o g b, 58P T 38 G4 o & [T 3G T & geIATT i
AUTAT HITAT| STl FI arsgel TededT 44 kI mol ' g1 (2)

(@) FEARIFARIPISA FIT g2 SHPT A0 T FIT THG 95T 82 (2)

(1) fAmafaf@a fharcas degl @l sco & 9ged gl ard 3ifhdas &
T (2)

(1) ~CHO & —CH,0H H

(2) —~CN & —COOH &

(3) ~COOH & -H |

(4) —~COOH T —cocl H|

(&) ATATHA garT g HTSTT T To@ A Th-cHo dUT Ud-0H G
3iedd g1 (2)

5. (a) An athlete is given 100g of glucose of energy equivalent to 1560 kJ. He utilizes 50%
of this energy in the event. In order to avoid storage of energy in the body, calculate the
mass of water he would need to perspire. The enthalpy of evaporation of water is 44 kJ
mol . (2)

(b) What is chlorofluorocarbon? What is its impact on environment ? (2)

(c) Write the reagent used or the conversion of the following functional groups: (2)

(1) =CHO into —CH,OH

(2) —CN into —COOH

(3) —COOH into —H

(4) —COOH into —COCI

(d) Prove with the help of reactions that one — CHO and five — OH groups are present in
glucose. (2)

6. U FEh IR A JTTIT W e B Sar &, ST dAsed 35 & @Y
TAATA ¢l gl TfAF B FaRIGE 3R Hieced Qe & A IH el W dig
giletr arerr AR C &ar &, S e & ueErd, Ui Al vl e B
A,B @ C & &7 g W=l §F faf@u 3R 3fAfeanst w varafas o
GdRT gHSATSU (3)

JUdr

a0 gRafdd RTA? (Fad TAAAE 0T f@w) (1+1+1)

(1) ITATSS H TS THAT H|  (2) TS ToiT & #A H| (3) UldAela &l
tHefaeass #|
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6. An organic compound A on reduction gives a compound B which yields ethanol, when
treated with nitrous acid. Compound B on heating with chloroform and caustic potash
gives the compound C having to bad smell which forms ethyl methyl amine after
reduction. Write the names and structural formulae of A, B and C and explain the reactions
by chemical equations. (3)

OR

How will you convert? (Write only chemical equation) (1+1+1)

(1) Propanamide into ethyl amine (2) Ethylamine into methane (3) Aniline into acetanilide.

7. T WAREH FEd e A cHel, 3R KOH & @y JfAfhar @ B 3R C
aar 8, g o guT & @y 3Efdd e W @i D fAear 81 D &
RO F C,H,0, 3OTgA drell Alfdleh E 9Ied 8lar g1 A, B, C, D 3R E
it T ggareT HITAT| Ycde fRTHAT FT TR FeEtaor #r fef@e| (3)
372qar

AhST & Holsh THAA & AfYT Teplge &1 AT [T YR fohar Sirar g2 @it
AfRfFATT S TEIfAF AR arRT FHSETI (3)

7. An aromatic organic compound A, on treatment with CHCI, and KOH gives B and C,

both of which give the compound D when distilled with zinc dust. Oxidation of D yields
the compound E having molecular formula C,H,0,. Identify the compounds A, B, C, D
and E. Write the chemical equation of each reaction. (3)

OR

How is methyl alcohol manufactured by destructive distillation of wood? Explain all the
reactions by chemical equations. (3)
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